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M SIHD
I kel (YetsI N /UBEN)
el Hlerztel (crel: M)
SN - B H2(3) - HRAY - BES O st ol & o HImE2
3| H 6,917,134 6,697,134 220,000
Hetze|(LetE ST/ UBtEiE) 644,621 549,621 95,000
Herzte| 644,621 549,621 95,000
=32l 185,200 168,200 17,000
405 KHAHE S| 185,200 168,200 17,000
01 AL =SS FHSHI 185,200 168,200 17,000
O&ER=EAD| 2 48,500 31,500 17,000
— 2 Xel M BHCHTI)
17,000, 0002 *1CH 17,000 0 17,000
xrekze| 408,036 330,036 78,000
405 KHaHE S| 78,000 0 78,000
01 AR ESEFHSHI 78,000 0 78,000
oxtE+g 78,000 0 78,000
— 4R 26,000 0 26,000
SIEE(AY) (2822
26,000,000 *1CH 26,000 0 26,000
—Od=e 52,000 0 52,000
SI2EH(L8)(=EH)
26,000,0002*1CH 26,000 0 26,000
JIZSEH(AH)(CHAH)
26,000, 00024+ 1CH 26,000 0 26,000
THar2e| (LetE DS /UBtEiE) 6,047,323 5,922,323 125,000
SRz 333,985 208,985 125,000
EERs I\ g vl 333,985 208,985 125,000
401 AlEHIZLROHY| 125,000 0 125,000
01 Al&H| 125,000 0 125,000
OZ=F3 141-5 & EF13At
250,000 %500 M 125,000 0 125,000




